Kl &FALHS

DOREHS:  W27742022000010
e 0l ko
Dz == aHEL
2 8 = e =L szo |BTHIE
M |2x220 |2xase 20552 0 67,049,000 67,049,000 0.00
N=E= 0 33,525,000 33,525,000 0.00
ARRExED 0 33,524,000 33,524,000 0.00
Brasel AN 0 134,008,000 134,008,000
FES=PCIPSY 0 134,008,000 134,008,000
sza0  [sa3s0l BEEEE 0 9,552,000 9,552,000 0.00
EXEPCIPSY 0 9,552,000 9,552,000
EXEPCIDSY 0 9,552,000 9,552,000
M 0 143,650,000 143,650,000
~ ArCrely
Mz |A=2dl oI21H] =0 0 108,348,000 108,348,000 0.00| S50 « 1091 = 4.800 0003
orolag 2l x 5% x 43| = 2
%’gg = =R 0 7.071,720 7,071,720 0.00[50,0002! x 127HZ = 600,000
= AtCHRl4
NCEEET=E! 0 10,717,680 10,717,680 0.00[ 8L ool - 13 000
0121 A 0 127,537,400 127,537,400
SIEES 5100H| 0 440,000 440,000 0.00
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o= Ol koK
S ALY
= at = HMEE SolE &= S

HR=EH| AN 440,000 440,000

N(ES 23| (O:1s] 3,065,400 3,065,400 4| 25,0003 x 19 x 12902 = 300,000
=323 4,512,000 4,512,000
29| AH| 14,480,100 14,480, 100
ARR2H| AH| 142,457,500 142,457,500
A& AEEH|IS XY 792,500 792,500
AlEHl A 792,500 792,500
MArZ=AH| A 792,500 792,500
=234 HAZ=H| 400,000 400,000
294 AH 400,000 400,000
AFEHI AH| 400,000 400,000
NIEAH 143,650,000 143,650,000
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